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: This paper contains FIFTY (50) multiple-choice matching questions, each

question carrying TWO (2) marks. Attempt All the guestions.

B ULl yAA (o) ciglsefly dadl, WY-wig A ASSL s-lladirl weedl

8. M UsHiAl FAeL dualdl &, s WL A (R) @ 8.

Marshallian demand analysis
assumes that the marginal utility

of money is :
(A) Diminishing
(B) Increasing

(C) Constant

(D) Infinite

Scale in production function of a firm

is defined by :

(A) investment in equipment in a

service providing firm

(B) size of permanent staff in the

firm

(C) a non-zero factor ‘K’ by which

all the factors are changed

D)

investment in plant, machinery

and land
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While market demand may have
elasticity less than unity, the
demand curve faced by a competi-

tive firm is infinity, because :

(A) the firm has no control on

elasticity
(B) the firm has no control on price

(C) the firm has no control on

production

(D) the firm has no control on
buyers

Opportunity cost means :

(A) Cost of best opportunity

foregone

(B) Cost of all opportunities
foregone

(C) Cost of availed opportunity
(D) Cost of possible opportunity

If demand curve is a rectangular
hyperbola (unit elasticity), marginal
revenue curve would be :

(A) Constant at some value K > 0

(B) A parallel
hyperbola

(C) Coincident
(showing quantity)

rectangular

with X-axis

(D) Coincident with Y-axis

{(showing revenue)
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The best optimum level of output
for the pure monopolist is obtained,

when :
(A) MR = SMC
(B) P = SMC

{C) P = lowest SAC
(D) P is the highest

In both the Chamberlin and the
kinked demand curve models, the
oligopolists :

(A) Recognise their interdependence
(B) Do not collude

{C) Tend to keep prices constant
(D) All of the above

The basic difference between
Classical and the Keynesian model
lies in the assumption of :

(A) Rigid money wages

(B) Supply of money

(C) Both (A) and (B)

(D) Rigid profit

Stagflation means :

(A) high inflation

(B) low inflation

(C) stagnant gnemployment

(D) inflation
unemployment

combined with
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10. The new symbol for the Indian

11.

12.

Rupee is :
(A) £
(B) ®
©)
D) ¥

An increase in government

expenditure will :

(A) Shift the LM and IS curves to
the right

(B) Shift the LM curve to the left
and IS curve to the right

(C) Shift only LM curve to the
right

(D) Shift only IS curve to the
right

Fisher’s quantity theory of money

assumes

(A) Velocity of circulation of money
undergoes changes in the short
run

(B) Supply of money is indepen-
dent of factors affecting

demand for money
(C) Output is determined by money
supply

(D) Money supply is determined by
output '
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13.

14.

15.

“The transactions demand for
money is not only a function of
income, but also of interest rate.”

This has been propounded by :
(A) Baumol and Tobin

(B) Keynes and Baumol

(C) Tobin and Keynes

(D} Friedman and Duesenberry

‘The interaction between multiplier
and accelerator can lead to regular
cycles in demand.” This was

demonstrated by :
(A) Hicks

(B) Kaldor

(Cy Friedman
(D) Samuelson

In the development theory dualism

basically refers to :

(A) gender based inequalities in

the economy

(B) agrarian and industrial

development in the economy

(C)

rural-urban dichoctomy in the

economy

(D) economic and social divisions

in the economy
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16.

17.

18.

A Lewis Model of Development is
applicable to an economy, where

there is :

(A} abundance of capital
(B) labour surplus

(C) technical progress

(D) rapid population growth

Who of the following did propose the
theory of unbalanced growth ?

(A) Amartya Sen

(B) H. Leibenstein

(C} Hans Singer

(D) Albert Hirschman

Which of the following pairs of

‘term’ and ‘institution/agency’ is

incorrect ?

(A) Millennium Goals : World

Bank and The UN

(B) Human Development Index :
UNDP

(C) International Longevity

Index : WHO

(D) Corruption Index : Trans-

parency International
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19.

20,

21.

The development theories given by
Ricardo, Karl Marx and Arthur

Lewis assumes

elasticity of labour supply.

(A) Zero

(B) Infinite

(C) Negative
(D} Unitary
Which of the following develop-

mental theories assumes that
‘shocks’ and ‘stimulants’ propels the

process of the economic development ?
(A) Critical Minimum Effort Thesis
(B) Balanced Growth Theory

(C) Unbalanced Growth Theory
(D) Golden Age Theory

Which are the two gaps affecting
growth process of an economic
system in the two-gap model of

growth ?
(A) Saving and investment gaps

(B) Income and consumption gaps

(C) Foreign Exchange and

Domestic Savings gaps

(D) Export and Import gaps
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22.

23.

24.

Stabilization function is an
important component of the

budgetary function because :

(A) Tax and expenditure policies
affect the level of economic

activity

(B) Tax and expenditure policies

are important instrument in

maintaining economic stability

(C) Tax and expenditure policies

affect aggregate demand
(D) All of the above

The indivisible goods, whose
benefits cannot be priced and
therefore, to which the principle
of exclusion does not apply, are
called :

(A} Pure private goods

(B) Pure public goods

(C) Non-merit goods

(D) Pure private and public goods

The technique of zero base
budgeting was first introduced in :

(A) UK

(B) Australia
(C) US.A,

(D) Netherlands
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25.

27.

If interest payments are substracted
from gross fiscal deficit, the

remainder will be :

(A) Gross primary deficit -
{B) Revenue deficit

(C)} Budgetary deficit

(D) Monetized deficit

A mechanism for measuring
physical targets achieved against

money spent is known as :
(A) Surplus budget

(B) Outcome budget

(&) ﬁeﬁcit budget

(D) IAnnual budget

Which of the following relates to
“secularly expanding size of
government activity relative to
national income” ?

(A) Say’s law

(B) Wagner’s law

(C) Fiscal decentralisation theorem

(D) Keynesian remedies to over-

come depression
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28. In calculating the buoyancy of a

29

30.

tax, we consider :
(A) Only automatic changes
(B) Onmly discretionary changes

(C) Both (A) and (B)

(D) Neither (A) nor (B)

The assumptions of comparative cost

advantages are :

(A) Full employment

(B) Mobility of labour within the

country

(C) Constant returns to scale

(D) All of the above

Devaluation of a domestic currency

will improve the balance of

payments of a country if the sum
of the elasticities of demand for

exports and imports is :
(A) greater than one
(B) less than one

(C) zero

(D) infinity
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31.

32.

33.

The imposition of a tariff on imports

of a commodity results into :

(A) improvement in consumer

surplus and producer surplus

(B) deterioration in consumer

surplus and producer surplus

{(C) deterioration in consumer
surplus and improvement in

producer surplus

(D) improvement in consumer

surplus and deterioration in

producer surplus
Deterioration in terms of trade of
is

underdeveloped countries

associated with :

(A) Singer-Prebisch
(B) Jagdish Bhagwati
(C) Adam Smith

(D) Karl Marx

The formation of common market
among various countries does not

allow :
(A)
(B)
©

Identical currency unit
Free movement of commodities

Free movement of factors of
production

(D) Common external policy

Economics-II
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34. Bretton Woods system broke down 34, @l2rgsy ueudl :

in A) 1cot
(A) 1971 (B) teq
(B) 1991 ' (0) 2004
(C) 2001 D 1eul
(D) 1951 Hi usl el edl.

35. Heckscher-Ohlin trade theorem was  35. €5:2-vilsdld wdu-{l Al uyn

first empirically verified by : UAHAT Y 251U

(A) W.W. Leontief (A) suey, suey. dlui-dls
(B) Bela Balassa (B) 4l caul

(C) G.D.A. MacDougall (C) @.sl.3. Asgad

{D) Paul Samuelson D) Ui AW

36. The moderation in the growth rate gL 48 edl,

in India (2011-13) is primarily 36. 4¥ 011-43 3B UM 4l

attributed to : el H21Sl Yy ¢
(A) Weakness in service sector (A) Aat &st-ll Adeod
(B) Weakness in agrarian sector ®@) s -l Haus

(C) Weakness in industrial sector (€) 2leilis &l tous

(D) Weakness in the foreign trade (D) [Q2e uR &l dams

soctor A 5138 edi.
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37. During which of the following

38.

years India experienced the highest

growth rate ?
(A) 2009-10
(B) 2010-11
(C) 2011-12
(D) 2012-13

The Planning Commission of India
has recently announced the poverty

line as :

(I) Rs. 42 per day per person for

urban area

(II) Rs. 26 per person per day for

rural area

(III) Rs. 32 per person per day for

urban area

(IV) Rs. 32 per day per person for

rural area
(A) (I) and (II)
(B) (D and (III)
(C) (II) and (III)

(D) (II) and (IV)
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39.

40.

41.

The most popular definition of

sustainable development is given
by :

(A) Report of Club of Rome
(B) UNDP Report
(C) Bruntland Report

(D) Global Resources Conservation

Union

According to the Provisional
Population totals Census 2011,
which of the following states has the
lowest Juvenile Sex Ratio both in

rural and urban areas ?
(A) Uttar Pradesh

(B) Kerala

(C) Tamil Nadu

(D) Haryana

Which of the following is not a part
of fiscal reforms in the Indian

Economy ?
(A) Increasing Tax-GDP ratio
(B} Economy in public expenditure

(C) Controlling fiscal and revenue
budgetary deficits

(D) Increasing liquidity in the

economy
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42.

43,

In Indian Economy, the growth
process leading to wide range of

socio-economic benefits and

providing equality of opportunities

to all is considered as :
(A) Social justice
(B) Sustainable growth

(C) Economic reforms under

globalization process
(D) Inclusive growth

Which one of the following is the
best measure to measure rate of

change ?

(A) Arithmetic mean
(B) Median

(C) Harmonic mean
(D) Geometric mean

The coefficient of variation is
calculated as :

(A) x 100

M a

B = x 100
M x

cov (X, ¥)

<) Ox “Oy

(D),JEX - )
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UYL

(A) AHrs
B) [Feuauwnt qlg

© dRasa-dl uBEu ssa vulds
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(A) MEus
(B) HeuYy
(C) dael weus
(D) delid HUS
[Radisdl el :

(A) x 100

> a

(B) % x 100

()

® (3 X%

gLzl 88 ud.

[P.T.O.]



45.

46.

47.

In which circumstances, one can use
Poisson approximation to Binomial

Distribution ?

(A) N is large and p is large
{B) N is large and p is very small
(C) N is small and p is large
(D) N is small and p is small
Suppose C = 75 + 0.82Y is the

estimated consumption function.

Then MPS is :
(A) 0.82

(B) 75

(C) 25

(D) 0.18

Type-I error in test of hypothesis is
the :

(A) probability of accepting the

null hypothesis when it is true

(B) probability of accepting the
alternative hypothesis when it

1s true

(C) probability of rejecting the null

hypothesis when it is true

(D} probability of rejecting the
alternative hypothesis when it

is true
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45.

46.

47.

syl dgonHl, [Buel RQazel yHludl
dls g Rdeddl Sudia 9
ax ?

(A) 2 N W2l »id p gl el
(B) 2uli N Hiel v p sl -

Sld

(C) U N ~urdl 24 p wial sin
D) W N Al 24 p -u-dl €ld

WA S C = 75 + 0.82Y 2RI 53¢

qyla [38y . di MPS -l
(Eyq

(A) 0.82

(B) 75

(C) 25

(D) 0.18

8.

Rseu-l wla@ni dad UL ey
Med :

(A) 21 (M2 0y iR seu-) )
sl AL del =512 s2audl
A™LAAL

(B) w3 dslEus uRseuri 4] 8iy
Al A-l w1512 saul euadl

(0) Ul (RsR0y R seunl )
Sl A Al RdlsR sl
delel

13 dsleus ud seudl Al ey
ALY drl wlslz s2ql+l
Aol -L

(D)



48.

49,

50.

Method of Moving Averages is used
to determine :

(A) Trend

{B) Cyclical variation

(C) Seasonal variation

(D) Random variation

For a normal curve, measure of

skewness is :
A) 1
(B) -1
(C) 0
(D)

To test whether fluctuations in the
price of sugar and edible oil are same

or not, one can use :
(A) T test

(B) F test
(C) Z test

D) %2 test
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48. Uldd A3 ugladi Guaia :

50.

(A) ad®l

(B) ufly 3810

(©) Rl 3R

D) g%y 3SR
RalRd sa0 e a8,
As WMLy a5 M2, [@Quddig W
(a) 1

(B) -1

) 0

D) %

Sl 8,

wWisS A e da-l Fudini adl
G UV % D T I o duNal

Hle, »vd :

(A) ¢ uilam
(B) F uilaa
(C) Z wla=a
M) x2 wlaw

Al Guuial 531 wgla.
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